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This paper consists of fifty multiple-choice type of questions.
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(i) To have access to the Question Booklet, tear off the
paper seal on the edge of this cover page. Do not accept
a booklet without sticker-seal and do not accept an open
booklet.
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page. Faulty booklets due to pages/ questions missing
or duplicate or not in serial order or any other
discrepancy should be got replaced immediately by a
correct booklet from the invigilator within the period
of 5 minutes. Afterwards, neither the Question Booklet
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After this verification is over, the Test Booklet Number
should be entered on the OMR Sheet and the OMR Sheet
Number should be entered on this Test Booklet.

Each item has four alternative responses marked (1), (2), (3)
and (4). You have to darken the circle as indicated below on
the correct response against each item.

Example: ) Q) @ (@ where (3)is the correctresponse.
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using white fluid, you will render yourself liable to
disqualification.

You have to return the original OMR Sheet to the invigilators
at the end of the examination compulsorily and must not
carry it with you outside the Examination Hall. You are
however, allowed to carry original question booklet and
duplicate copy of OMR Sheet on conclusion of examination.
Use only Blue/Black Ball point pen.

Use of any calculator or log table etc., is prohibited.

There are no negative marks for incorrect answers.

In case of any discrepancy in the English and Hindi versions,
English version will be taken as final.
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INTERNATIONAL & AREA STUDIES

PAPER - 11

Note : This paper contains fifty (50) objective type questions of two (2) marks each. All questions

are compulsory.

1.  What is the striking characteristic that one would associate with “placing domestic politics
as an intervening variable between the distribution of power and foreign policy behavior” ?
(1) Neoclassical Realists (2)  Structural Realists
(3) Neo-Realists (4) Neo-Liberals
2. Arrange the following cold war events in their ascending chronological order and use the
code below :
(a) Marshall Plan
(b) Warsaw Pact
(c) NATO Treaty
(d) Death of Josef Stalin
Codes
1) (d), (@) () (©) (2) (9 (b), (@) (d)
3)  ®), (@), (©) (@ 4) (@) (9) (d), (b)
3.  Which of the following articles would you identify with Immanuel Kant’s ‘Perpetual Peace :
A philosophical sketch” with the codes given below :
(a) The formation of a hierarchy of states.
(b)  The civil constitution of every state shall be republican.
(c) The Cosmopolitan Right shall be limited to conditions of universal hospitality.
(d) The Right of States based on union of states.
Codes :
(1) (a) and (b) are correct (2) (b) and (c) are correct
(3) () and (d) are correct (4) (b) and (d) are correct
poors | AN : Fapec
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4.  Whose theory is characterized as offensive realism ?

(1) Kenneth Waltz (2) Hans Morganthau

(3) John Mearsheimer (4) Stephen Walt
5.  In whose writings, does one come across the “Melian dialogue” ?

(1) Socrates (2) Plato (3) Aristotle (4) Thucydides
6. Identify the appropriate code for the Assertion (A) and Reason (R) as given below :

Assertion (A) : After 9/11, the USA showed a willingness to employ its power to defend

its interests unilaterally.

Reason (R) : Its experiences in Iraq and Afghanistan appeared to demonstrate extra-

ordinary military capacities can be effective.

Codes :

(1) Both (A) and (R) are true, but (R) is not the correct explanation of (A).

(2) Both (A) and (R) are true, and (R) is the correct explanation of (A).

(3)  (A) is true, but (R) is false.

(4) (A) is false, but (R) is true.

7.  The Westphalian image of the monolithic, unitary state is being displaced by the image of :

(1) Failing State (2) Corporate State

(3) Disaggregated State (4) Balloon State

8.  Which one of the following is not included in the ‘New Security Concept” of China ?

(1) To conduct cooperation on the basis of the UN Charter, the Five Principles of Peaceful
co-existence and other widely recognised norms governing international relations.

(2) To peacefully resolve territorial and border disputes and other controversial issues
through negotiations.

(3) To reform and improve the existing international economic and financial organisations
and promote common prosperity in line with the principle of reciprocity and mutual
benefit and common development.

(4) To promote the proliferation of WMD and place less emphasis on traditional security
areas.

poors | RN ‘ Fapec
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9.  Which one of the following was not seen as an integral part of Japan’s Comprehensive Security
doctrine ?
(1) Increasing defence expenditure.
(2) Providing legitimacy to its efforts to develop a more expansive security perimeter.
(3) Addressing regional concerns about Japanese re-militarization.
(4) Preventing civil war and regime change.
10. Identify the correct code for the Assertion (A) and the Reason (R) as given below :
Assertion (A) : Globalization is a process of creation of a worldwide system where nothing
remains limited within the geographical limits of any state.
Reason (R) : Globalization is constructed in a manner, in which it affects the local
developments with globalising trends on account of the ICT revolution.
Codes :
(1) Both (A) and (R) are correct.
(2) Both (A) and (R) are not correct.
(3) (A) is correct but (R) is not correct.
(4) (A) is not correct but (R) is correct.
11. Match List-I (Authors) with List-II (Books) using the codes given below :
List-I List-II
(Authors) (Books)
(a) M. Watson (i) Global Hunger Index 2010 : The Challenge of Hunger
(b) J.A. Scholte (ii) The Political Economy of International Capital Mobility
(c) Helleiner. E. (iii) Globalization : A Critical Introduction
(d) Yohannes, Y. (iv) States and the Re-emergence of Global Finance
Codes
@@ () (o) (d)
O G @) 0O @
@ () O @ )
@) () @) @) 0
@ O @ @)
voors [NV : Faper
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12. When and where was the G-20 constituted ?
(1) Cancun, 2003 (2) Rio, 2004
(3) New-Delhi, 2005 (4) Havana, 2003
13. The ability of Trans-National Companies (TNCs) to change transfer prices means :

(1) To control international market prices.

(2) To regulate international trade.

(3) To create an international structure of authority.

(4) To evade taxation or government controls on their international financial transactions.

14. Name the institution formed to serve the best interests of smooth functioning of international
trade at the Bretton Woods Conference :

(1) World Trade Organization

(2) International Trade Organization

(3) General Agreement on Trade and Tariffs

(4) International Trade Regulatory Body

15. ].M. Keynes is associated with which one of the following theories :
(1) Orthodox Liberalism (2) Institutional Liberalism
(3) Interdependent Liberalism (4) Neo-Liberalism
16. Identify the correct code for the Assertion (A) and Reason (R) as given below :

Assertion (A) : The notion of “global security’ is a direct off-shoot of globalization, which is
substantially driven by technology diffusion.

Reason (R) : New technologies of information and cyber warfare and proliferation of
the weapons of mass destruction make it more meaningful to speak of global
security, rather than national security.

Code :

(1) (A) is correct, but (R) is not correct.

(2)  (A) is not correct, but (R) is correct.

(3) Both (A) and (R) are correct.

(4) Both (A) and (R) are not correct under the changing global scenario.

poors | RN : Fapec
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17. Which one of the following is not included in the conceptual framework of Human Security ?

1)
(2)
()
(4)

People’s freedom from fear
People’s freedom from want
People’s freedom from indignity caused by domestic and/or external sources

Man management for military duty

18.  Which one of the following is more likely to give primacy to ‘Revolution in Military Affairs” ?

(1)
(2)
®)
4)

Increase in the human costs of violent conflict.
New problems of human security in the conflict zones.
Making war or violent conflicts less likely.

Application of new military technologies to transform completely the battlefield
environment, along with organisation, doctrine, weapons systems and operational
competence.

19. Match the following nuclear weapons delivery aircrafts of Indian Air Force as given in List-I
with their respective combat radius in List-II. Use the code given below :

List-I

(IAF Aircrafts)

(a) Jaguars (Shamsher)
(b) Mig 27K (Flogger)
()  Su-30 MK-I-III
(d) Mirage 2000 H/TH
Code
(@ () (o (d)
1) (@v) @) G @
2 @@ @) @) (v)
¢y @@ @(v) @ (i)
4) @) () G @
pooss | {1 HLAIMEAND

List-1I

(Combat radius)

@) 1850 km
(i) 1500 km
(i) 1100 km
(iv) 2600 km
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20. Match the Indian missiles given in the List-I with their respective range of fire in the List-II.

Use the correct code.
List-I List-1I
(Indian missiles) (Range of fire)
(a) Sagarika (i) 150 km
(b) Prahar (i) 250-350 km
(c) Dhanush (iii) 8,000 - 10,000 km
(d) Surya1/2 (iv) 700 km
Code
@@ () (o (d)

M 6 @ @ @)
@ ) O @ @)
@) () @) O @)
@) (W) ) @ 0

21. Find correct chronological order of the following events by help of the code given below :
Events
(a) India - China war
(b) Kargil war
() India - Pakistan war in Rann of Kuchchh
(d) Birth of Bangladesh
Code
1) (), © ), ®) @ (@ © ®) @
3) © @ @), ® 4) (), @), ©, (@

22.  Which of the following countries are beneficiaries of the ‘Dagachhu Project’ ?
(1) India - Nepal (2) India - Bhutan
(3) India - China (4) India - Vietnam

poors | HUIANRCRAI 2 Fapec
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20. G-I U IR Fa&ares ol Geil-11 § 31 T2 3Rt IReh g § GAfad Sifse | §11 e & T4m

HifeTT |
-1 -1
( WRET e ) (" )
(a) @RI (i) 150 fe.Hl.
(b) TR (i) 250-350 fe.H1.
(c) &gy (iti) 8,000 - 10,000 fe. 1.
(d) ¥=-1/2 (iv) 700 ..
ETE

@@ (b) (o) (d)

f) (i) (iv)
(i) (i)

i) (@) (iv)
( .

(
(
i) ()

21. 9 feu % =t vee @ Fr=fafed gewsti #1 98t aRidt w0 | wqa Hife

22, fyeifera # & ®F-9 <00 T GRS & @l 82
(1) 9Rd - 9 (2) ¥R - e
I - =14 (4) 9 - fogaT™

)
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23. Match the following nuclear power reactors of India given in List-I with their start-up dates
in List-II and use the correct code.
List-I List-1I
(Nuclear Power Reactors) (Start-up dates)
(a) Kaiga-1 @i 1 July, 1992
(b) Kakrapar-1 (i) 21 March, 1986
(c) Madras-2 (iii) 16 November, 2000
(d) Narora-2 (iv) 6 May, 1993
Code
@@ (b) () (d)
1) () (@v) @ @
2) @ @) @) (iv)
() @ @) @ ()
4) (@v) @ @) (i)
24. Arrange the following events in their ascending chronological order. Use the code given
below :
(a) Bali bombing
(b) SARS outbreak
(¢) Indian Ocean Tsunami
(d) Asian financial crisis
Code :
1) @), (), () (d) 2)  (d), (@) (b) (¢)
(3)  (b), (d) (@) (o) 4) (@) (b) (d) (@)
25.  Who among the following opined that NAM acted as third bloc during the cold war years ?
(1) Henry Kissinger (2) George P. Shultz
(3) J.L. Nehru (4) A. Nasser
poors IR 1 Faper
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F3 g1 ¥ fow WA % e v R %1 eI H fa o vpeer i fafer & gifem
3R T e TART H |
-1 F-11
(vt vifert Ruee) (yTweTa i fafer)
(a) HM-1 () 1 T, 1992
(b)  HTHIIR-1 (i) 21 T, 1986
(c) H=THE-2 (iii) 16 TR, 2000
d) -2 (iv) 6 T8, 1993
HE ¢

@@ (b) (9 (d)
@) (@v) @) @)

@ @) (i) (@)
@ @i @@ (@1v)
(iv) (@) (@) (i)

iii)

i)

) STelt SHERT

(b) ¥ (TE.CSRTH.) T
c) T vemria g

d) e focia dee

) (@) (b), () (d) 2)  (d), @) () (©)
3) (b), (d), (@) () ) (9, (), (d) (@)

frefafed & @ fhas! o8 @ of fF (el side™ 3 o 9§ & SRE a7 % &9 § %"
o= ?

1) T8 fefas (2) st T g
() S.Ta. TE® (4) T AR
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26. Arrange the names of the following scholars in chronologically ascending order with the
help of the codes given below :

(a) Hugo Grotius
(b) Richard Zouche
(c) Alberico Gentili

(d) Samuel Pufendorf

Codes :
1) (d), (b), (a), () (2)  (¢), (a), (b), (d)
@) (b), (d), (), (a) 4) (@) (o) (d), (b)

27. Identity the correct code for the Assertion (A) and Reason (R) as given below :

Assertion (A) : By nineteenth century, the European states began to insist on a “civilized
standard’ that non-European states would have to meet before participating
in any international conventions.

Reason (R) : The Europeans expected the non-European states to accept international
law, practice diplomacy in the European way so as to form systems of justice
suitable for the Europeans.

Codes :

(1) Both (A) and (R) are correct.

(2) Both (A) and (R) are incorrect.

(3) (A) is correct but (R) is not correct.

(4) (A) is not correct but (R) is correct.

28.  Which one of the following is not included as a threat to Non-Traditional Security (NTS) :
(1) Illegal trafficking of humans
(2) Climate change and resource scarcity
(3) Transnational crime, including cyber-space crime

Ethnic cleansing
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frefafad Ml &l sied resRd & STIER U Tu 39U & 9 9t e =1 fafgad wifsw)
(a) =M Mfead
(b) fEES=

(c) AASTLRI SiHf(e
91 gfRerh

(d)
e :
1) (d), (b), (), (0) 2) (o) (a), (b), (d)

(1)
3 ®), (@) © (@ @) (@) (9) (d), (b)

frefifera atfeRer (A) @ik ek (R) % forw wel %2 =1 fafed wifa

ANIFRAT (A) : TS TTeRT Tk JUWE TR A ' H A W SR A1 Y fohan, 8 R-=1ld
gl ! foRdl SAaUiea S e § wrier) § e T T o |

e (R) : FAIT T2 I7 79T W 9 ff MR- T SR HTET 1 TR &,

FeAfd w1 AT Tk F U HE, TR F TH T A IO ST S gAY
Al o T 3w e |

(A) &R (R) 3 5 1
(A) 3R (R) ST o9 €|
(A) ¥ &, T (R) ¥ ¢
(A) 379 8, W (R) 9 |

frefafaa # @ =9 -kl gan (E.EwE.) | wita 7@ 81 Sfaa S 1 g i
(1) 199 AFa T&=hA

(2) e qRerd SR HarEEl w1 SA9E

() WEH Y, HEeR-TY Ty

(4) TSI HER
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29. The UN Security Council for the first time adopted the concept of Responsibility to Protect
(R to P) in an operational context in 2011 (Resolution 1973) in relation to which one of the
following countries ?

(1) Cote d’'Ivoire (2) Somalia (3) Libya (4) Chile

30. Arrange the states with worst air pollution in terms of WHO report of top 10 countries with
the help of the codes given below :

(a) Bahrain
(b) Qatar
(c) UAE

(d) Pakistan

Codes :
(1) (d), (b), (), (a) 2) (9 (@), (b), (d)
@) (b) (9) (d), (a) 4) (a), (d), (b), ()

31. Identify the correct code for the Assertion (A) and Reason (R) as given below :

Assertion (A) : Pakistan relies heavily on its first strike doctrine to deter conventional conflict
with India, and under the shadow of nuclear umbrella, it continues to fight
low intensity proxy war against India.

Reason (R) : The bottom-line is that Pakistan refuses to accept India’s offer of a bilateral
‘No-First Use’ treaty as a nuclear confidence Building Measure.

Codes :

(1) Both (A) and (R) are not correct, nor is (R) supportive of (A).
(2) Both (A) and (R) are correct, and (R) supports (A).

(3)  (A) is correct, but (R) is not correct.

(A) is not correct, but (R) is correct.

s N
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frefafed <o # 9 &F | T 30 & Fag § 3T, T qRug 3 vgelt ar ‘387wt e (R to P)
%1 2011 H (T&TE 1973 §R1) fohanfard & o g | st foran ?

(1) omEad wre (2) Tt (3) e (4) faei

fova & <9 ¥ <0 % gy H fove wWRed 9 e (S, TH.8TL) it KUk & S1uRr fefated
3Aferen ST YUl ATl TS o SHANTG &Y H HeIfeerd HIfST

(a) W&

(b) AR

(c) HIH SRS A (J.T3.)

(d) RUETSIE]

< :

D (), ®) (), () 2) (o), (@), (b), (d)
3)  (b), (), (d), (a) 4) (), (d), (b), (9)

freifera etfueRer (A) @R a& (R) & T @&l %e &1 fafgq & -

APUHIT (A): 9N & WY TWERET G F AFA & faU afhsd@ veat el F & 3T
fagT W e favem@ & € 3R AfusE sad &t 3@ § 98 9Rd & foaeg
- iierdl STl BgH 5 ST T ] |

ek (R): T 91d 98 ¢ Toh e 3 Afenta favam amell 3u™ & €9 # 9Rd & A B
o' dfy & fgueia TwE &l WHR & | TR H e B

) (A) IR (R) SHT 18 €, AR A& (R), (A) F1 GeEE B

2)  (A) 3R (R) T § T 3R (R), (A) F T ¢ |
) (A) T E, W (R) IEA B

(4) (A) 9 T, W (R) ¥4 T
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Arrange the following events in their ascending chronological order. Use the codes given
below :

(a) Dhaka Declaration and Action Plan on climate change.

(b) Comprehensive Framework on Disaster Management in South Asia adopted at
Male.

(c) Conference on climate change at Copenhagen.

(d) SAARC agreement for Rapid Response to Natural Disasters.

Codes :
(1) (d), (o), (b), (a) (2) (@), (b), (), (d)
@) (b), (@), (c), (d) 4) (o), (b), (d), (a)

Which ASEAN country’s head of state sent a congratulatory message to both India and
China on the 60t anniversary of Panchsheel ?

(1) Singapore (2) Malaysia (3) Myanmar (4) Thailand

‘Shangri-La Dialogue’ is held by which one of the following countries since 2002 annually ?

(1) Japan (2) South Korea (3) Singapore (4) Thailand

Match List-I (states) with List-II (currencies) using the codes given below :
List-I List-II
(States) (Currencies)

(a) Lao People’s Democratic Republic (i) Riel
)

(b) Cambodia (i) Dong
(c) Philippines (i) Kip
(d) Vietnam (iv) Peso
Codes

@@ (b) (o) (d)

1 @) @) @O ()
(2) @) @) (Gv) (i)
G) (v) @) @) ()

4) iv) (i)  (iii)

)
i

1l 2
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Frefafed sestl &l 376 9ed wiesha & TIER Hafeed &1 @ T 9 Fe &1 &b HIf

(a) TaTy YRy Heeht SRt oo SR wrt A |

(b) WA H SFTfiRa feror TR § Srder gy Hall samaes @i

(c) WU H Soary qRerdd el T e |

(d) TRfde STYRT & gfd @fa gfafshan 1g e (TH.CTARHT.) FHEHT |

He ;
)
)

1
3

D (d), (©), (b),
®)  (®) @) ()

(d)

TRl i 60e aeiTic R fohd Sfar-qd TREE §e % 688 < & U@ 7 9Rd 3R =9 T &
TS Hew Ut foham ean?

1) femgR (2) Tt (3) HER (4) oS

frefafed <o # @ wel 991 2002 ¥ ‘ H-a-<iaar’ aifts &9 9 fowman 51 @1 e ?

(1) <A (2) fao wifa (@) e (4) oS

TeHl-1 () =1 Gell-11 (FET) & e feu e 3f9a e 1 T8 idd g gHfad i

i1 TE-11
() (9aT)
(a) e fudew SHhfcsw Rufsas () FaEm
(b) e G) =
(c) Trfad= (i) T
(d) forrqm (v) T
%<
(@ () (9 (d)
1 G @) @ (0v)
(2 @) @) o (Gv) (i)
®) (v) () (D) ()
@) () (@v) (@) (i)
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36. Match the leaders from List-I with their respective Foreign Ministers from List-II by using
the code given below :

List-1 List-I1
(Leaders) (Foreign Ministers)

(a) Leonid Brezhnev (i)  Sergei Labrov

(b) Boris Yeltsin (i) Andrei Gromyko

(¢) Vladimir Putin (iii) Edward Shevardnadze
(d) Joseph Stalin (iv) Vyacheslav Molotov
Codes :

@@ () (o (d)
M G @) @ )
(2) @) G @v) @)
(®) (v) @) @) ()
@ @ @ @) ()

37. Identify the correct code for the Assertion (A) and Reason (R) as given below :

Assertion (A) : Putin’s preferred method is ‘hybrid warfare’ : a blend of hard and soft
power, some military and some non-military elements.

Reason (R) : Hybrid Russian power is ambiguous in both source and intent, making it
hard for multi-national bodies such as NATO and the EU to craft a response.

Codes :

(1) Both (A) and (R) are correct.

(2) Both (A) and (R) are not correct.
(3)  (A) is correct and (R) is not correct.

(4) (A) is not correct, but (R) is correct.
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36. GEl-1 ¥ a1 IR G-I ¥ 3o focw 73t &1 1= 33 T3 e 1 730 *Xd gu gafaa wifee

-1 TEl-11
(ST ) QECMEELD)
(a) Torfe sma () IO d9E
(b) < afeds (i) 3= iRl
(c) =ATHI e (i) TSAS YaTEATd
(d) SIE® wifed (iv) SATEEE AiedE
ETE
(@ (b) (o) (d)
1 @) @) @) ()
() @) @) @v) (i)
@) Gv) (@) (i) ()
@ 0 @) () (v)

37. frAfafEd Ifueske (A) iR @& (R) & faT 921 e &1 fafgd st

AURT (A) : oA 1 TSI e § : Tafsa gead’ #or &R 793 v, 38 99 iR 3
ST @l 1 g

&+ (R): w9 ! fafea wfe wid 3R w9 A1 # srore § a7 oiR it o S8
T TRl i1 Yo A1 i Tl 2

) (A) 3R (R) I T

) (A) 3R (R) SHT 3187 ¥
3)  (A) T © 3R (R) o/ T

)

(A) 39 ¥, W (R) 94 |
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38. Match the leaders given in List-I with their Policies/Revolutions in List-II with help of the
code given below :
List-1 List-11
(Leaders) (Policies/Revolution)
(a) Mao Tse Tung (i)  Shock Therapy
(b) Vladimir Lenin (ii) October Socialist Revolution
(c) Mikhail Gorbachev  (iii) Perestroika and Glasnost
(d) Boris Yeltsin (iv) Cultural Revolution
Codes :
@@ (b) (o) (d)
1) (Gv) @) @) ()
(2) (v) @) G @)
() () (@v) G @)
@ @ () G ()
39. Which of the following has faced desiccation in Central Asia in recent decades ?
(1) Caspian Sea (2) Aral Sea (3) Balkhas Lake  (4) Issykul Lake
40. The Indo-Russian Strategic Partnership Treaty was signed in :
(1) October 2001  (2) October 2000  (3) September 2005 (4) October 2002
41. French Africa is located in which part of Africa ?
(1) East Africa (2) South-East Africa
South Africa (4) North-West Africa
s NI y
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Tell-1 1 o3 T et i gei-11 5 37! Aifadi/swifaai &1 fod ™ feifed fe #1 7eg @ gafad
HIT

-1 G-I
(e ) (ferat/ it )
() IS g () o offd
(b) =AfHR Af (i) STRER FHISETRT Fhifd
() Toamra Tef=s (iii) TEEIEHT SR ARG
(d) e afew (iv) WrEHfaH it
Fe

(@ (b) () (d)

1 ii i
2 i

(1) (
2) @) (
(3) @) (v) @) @
@ O (iv)

e TR B B o <9Ikl B fefafad | 9 fd st (yrka) st feafd &1 am s v € 2
(1) FREEE IR (2) & "R (3) e (4) sHERA A

“ RA- T WM IR FHEia’’ T w gEiei gu ?

(1) SR 2001  (2) AFSX2000  (3) faamR 2005  (4) SFHR=R 2002

T SThIehRT, SThihT o Ty 9 # feog &2
(1) et ST (2) <fearo-vd TR
(3) 3faror STmie (4) IR-UfaHt TR
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Arrange the following events in ascending chronological order with the help of code given

below :

(a) Formation of the OPEC

(b)  Establishment of Ottoman Empire

(¢) Introduction of Mandate system

(d) Establishment of the Arab League

Codes :

®  ®) ©) (d) (@ 2) (@) ®) (©) (d)
3) (), (®) @) (© @) (9, (d), (b), (a)

Identify the correct code for the Assertion (A) and Reason (R) as given below :

Assertion (A) :

Reason (R) :

The recent break out of civil war in Yemen is the result of sectarian and
historical factors.

The spread of conflict in the contiguous Arab region by the terror groups
had also flared in Yemen.

Codes :

(1) Both (A) and (R) are correct.

(2)  (A) is correct but (R) is not correct.

(3)  (A) is not correct but (R) is correct.

(4)  (A) is correct and (R) is the partial explanation.

Match the leaders mentioned in List-I with the countries mentioned in List-II with the help
of the given code below :

List-I List-II
(Leaders) (Countries)
(a) Golda Meir (i Iran
(b) Mohammed Mussadegh  (ii) Algeria
(c) Habib Borgiba (iii) Israel
(d) Ahmad Ben Bella (iv) Tunisia
Codes :
(@ (b) (o) (d)
1) G 6 @) G
@ O Gv) @ i)
@) O @) ) ()
@) v @) @ 0
poors | RN 2
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42. 9 QU %2 %t ueg ¥ Fr=fafad semst #i sed weshy o TR Fafedd i :
(a) U I TS
(b) AT WA ST T
(c)  SHIGRT YU &1 JEd
(d) 3T T T EATIA
e :
1 (b), (@, (d), (@) 2) (@), (b), (), (d)
(3)  (d), (b), (@), (c) 4) (o) (d), (b), (a)
43. freifera atfireRer (A) oIk @&k (R) & T @&t e =1 fafga wifs
AR (A): T T T & H o 8 g5 reitas ofR tfqeifas wRet %1 ufiom g1
T (R): frhead! sRa &7 ¥ SR Fod 1 99 | YHR STdenRt IRl grI TR e
%<
1) (A) 3R (R) IH T T |
(2) (A) ¥ & T (R) I9A B
(B) (A) 3¥H €, W (R) TA %1
(4) (A) TA T 3R (R), (A) FT Tih TR |
44, = fou %3 =t 7eg @ G-I 7 fu Famsti 61 G-I § KU 39 & 4 & gafea &
TqEt-1 TEit-11
(Far) (3or)
(a) TieS BN i =
(b) WIS HEE® (i) STeStiar
CEREEERIE (iii) TETEA
(d) oTeHE S SE (iv) g
e :
(@ () (o (d)
1 @) @ o @v) ()
2 @ (v @) (i)
G @ (@) (D) (i)
(4) (v) @) @) @
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Which one of the following African countries had opposed the US Proposal for the indefinite
extension of the Nuclear Non-Proliferation Treaty in 1995 ?

(1) Nigeria (2) South Africa (3)  Tunisia (4) Sierra Leone

Match List-I (Authors) with List-II (Writing) and select the correct answer with the help of
codes given below :

List-1 List-II
(Authors) (Writings)
(a) Calva-Lopez (i)  The Rise and Fall of Brazilian Inequality
(b)  Francisco HG Ferriera (i) Declining Inequality in Latin America : A decade

of progress

(c) Claudio Loser (iii) The International Finance Institutions and
Latin America

(d) Homi Kharas (iv) Latin America : A Forgotten Region
Codes :
(@ () (o (d)
1 @ @ @ )
@ @O (@) @v) (i)
@) @) @Gv) @) ()
(4) (v) (@) @ (i)

Which one of the following the most important feature of the OAS ?

1) Integration of the economies of Latin American countries.

3

1)
(2) Involvement of United States military in the region.
(3) Formation of a political unit.

(4)

4)  Destroying the powers of the drug lords.

The US mission to the earlier European Union was first established in which of the following
year?

1957 2) 1961 3) 1970 4) 1976

(1)
poors [ [HHNATNANI 2
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45. 1995 ¥ TR % fhE < 7 J.UH. G ‘AR UER i’ & dAH=d & & fau fawr
et gsaE @1 fady foman ?

(1) st (2) O SRR (3) AR (4) foo feam

46. 9 foU e H 7eg § Get-1 (TEHRIT ) I GeiI-11 ( ToAT ) § GAferd hil Fel ST Al 97 HIfIT -

-1 Tl

(@R ) (=)
(a) HTcTS SIS () T3 USS TUE wiA SATE SSferad sHgafere]
(b) WHIFTER TaLS. B (i) TeIsfHT sHeeferd! 37 eeiF ofien : T fekhs

3T grg

(c) FARfeA R (i) TS TETTHA FEAY TRICIIY TS e THH]
(d) B EE (iv) <ieH oEReR : T e o
He

@@ (b (9 (d)
1 @ @ 3G (i)
@ @O @) @v) (i)
@) @) @Gv) @) ()
4) (v) (@) (@ (i)

47. T ¥ q SF-d T A TE. FT Gaifern Tl fasiar €72
(1) rfat TR QO St STedeTawe 1 THIH |

(2) TR H=-T@l a1 39 & H Hoaradi |

(3) USHIfae fTeRr 1 T |

(4) TRicl weTef < AIfRATST 1 Wfed &l T ATl

48. frfafed o 9 frg o ¥ g4 9T 99 § SR HeH ged 9ga wofya foran = o ?
(1) 1957 2) 1961 3) 1970 4) 1976
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The majority of the Latin American countries use Spanish language as a legacy of which of
the following treaty ?

(1) OAS Treaty (2) Treaty of Tordesillas

(3) Treaty of Hidalgo (4) Monroe Doctrine

Identify the correct code for the Assertion (A) and the Reason (R) as given below :

Assertion (A) : The approach to growth in many Latin American countries can be construed
as “get the policies right and growth will follow”.

Reason (R) : The Latin American countries have a track record of putting their economic
policies in accordance with the macro-economic policies.

Codes :

(1)  (A) is correct but (R) is not the correct explanation.
(2) (A) is not correct but (R) is correct.

(3) Both (A) and (R) are correct.

(4) Both (A) and (R) are incorrect.

-00o0-
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frefafea o 9 forg 9fa & oet & &9 § Aferis onfa-t STafint <9 ) 9T 1 SYA hid © 2
(1) shuuw. 9y (2) ISHIE™ H Gy
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